INOX

Stainless
Steel

LV.F-100-SST
LV.F-100-AS-SST

ELESA J& &% it

LT

‘t‘ggtmt\ttklthlth\‘l\\l\\\\\\\iii'\i\\‘_ﬁﬁ'}ﬁ.."’

WH %% KT EH

IR R ERGREPABTR R ERE, TEH. b,
HE DA Rt F A

REREE, LXE,

- AISI3047 2 50 77 15 i BR SURAT

- LVIFRL A B R A AR B

- LV.F-ASEL . NBR#& 70 H KA ZASACE B B4, Bk #ER,
FroEEMTRAGRERRT REEE, WLAXZAE FE, &
HEZEAMEHERT, RELBAL,

- PN £180° a3 % AL

- AISIB0AR A& (LT, £ LE5127),

(s hBENNbE nghnhnnnh-n#ntnpénn-lnln-hnr‘,

R

*H

ZRBITWEEMEA, Z2LE20 KA,

AFREGNRREEZN T ERPFRNFE, ILRERITR
B A REEBRA, R, TR, KEfERA PN,

AFREGTOEBBVERE, ERATHREAFAES, £EE
RNEsHEFHEnREN, #AELZFE, WEEATAKFENRE

F i,

d L
——— FAISIBARFRMm LE 4 BHE, B THEMKSH (K T0.030%)% 1%
T —t WU EEENESNATER, LIHEFHS T AR E,

I f.-;.j FHIAE, AEIFFREREHNEX, AEARBRMESHE,

— \S A5
/"’\: %_HTT"\
=] - s TV
' ATE:;HT‘_
| ALy ERIET
_ ¥ EER 17
y 1 1 A I ]
12.5 | | ﬂ
B 70 % %
e iy o iy

7 Pt 0 EE * R+ g | Ew | wF | BEFT | ==

{44 B S {45 BB D L Lig N d | @ s [N] g g
332521 | LVF-100-24-SST-M16x58 [335521 | LV/F-100-24-AS-SST-M16x58 101 104 M16 58 260 314
332525 | LVF-100-24-SST-M16x98 335525 | LV/F-100-24-AS-SST-M16x98 141 144 M16 98 312 366
332541 | LVF-100-24-SST-M16x138/335541 | LVF-100-24-AS-SSTM16x138 [1%0 181 184 43 | M16 138 24 24 25000 363 417
332561 | LVF-100-24-SST-M16x1581335561 | L\/F-100-24-AS-SST-M16x158 201 204 M16 158 391 445
332625 | LVF-100-24-SST-M20x98 335625 | L\/F-100-24-AS-SST-M20x98 141 144 M20 98 384 438
332641 | LVF-100-24-SST-M20x138[335641 | L\V.F-100-24-AS-SST-M20x138 181 184 M20 138 464 518
332661 | LVF-100-24-SST-M20x158}335661 | LVF-100-24-AS-SSTM20x158 [1%0 201 204 43 | M20 158 24 24 25000 504 558
332681 | LVF-100-24-SST-M20x198|335681 | L\/F-100-24-AS-SST-M20x198 241 244 M20 198 580 643
332725 | LVF-100-24-SST-M24x98 335725 | LV/F-100-24-AS-SST-M24x98 141 144 M24 98 484 538
332761 | LVF-100-24-SST-M24x158|335761 | LV.F-100-24-AS-SST-M24x158 100 201 204 43 | M24 158 24 24 25000 659 713
332781 | LVF-100-24-SST-M24x198[335781 | L\/F-100-24-AS-SST-M24x198 241 244 M24 198 780 834

" RABAEN REEFLERARAT. B EREH LHRFTE, THRIEERGTR,

# O Ko T RS BB

“‘ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source

‘€lesa-BANTIR)

when reproducing our drawings.



